



Quick ARNI Q&A.

Questions are:

1. How many devices can ARNI-S drive?

a. ARNI-S can drive upto 450 devices in a single subnet

2. Can the ARNI-E drive both Vlans?

a. ARNI-E can support upto total of 450 devices across 40 subnets. You have to note here that the subnets which do not have ARNI’s, one of the devices become the clock master and they have to register themselves to ARNI-E. The devices have to be configured with domain name (parent.bosch.omneo). 

3. How many Arni’s (S & E) will be needed?

a. In the use case you have mentioned, there are following solutions

i. ARNI-E in VLAN1 and ARNI-S in VLAN2. Again you need to provide domain names for the clock synchronization to work across ARNIS

ii. ARNI-E in VLAN 1 ( 164 devices) and no ARNI’s in VLAN2( 46 Devices). Again domain name to be provided 

b. Since redundancy is always used, you can add +1 for every ARNI.

